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iﬁﬂhelp HipY xgrid fUEa(7|({E scilab §:E& (console) P54 help xgrid)

x=[0:0.1:2*%pi]'";
plot2d(sin(x))
xgrid(3)

7 SCl/myexamyxgrid_0l.txt (SCLRLFEERVEEE > 74 winxp » fi"fj<kl D:\Program
Files\scilab-5.2.2\)
2 o ffli"] exec ?F[ —?J #hw

SR T scilab = PL’F i(console) ™ ?, e
exec SCI/myexam/xgrld 01.txt
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x=[03 -3] //;JE%ﬂs fﬁ;&ﬂfjx@@

y=13 -3 3] /AL 3 (RO y i
plot2d(0,0,-1,"034"," ",[-4,-4,4,41)//F=1 H AT 1
xset("color",2) J/5EAE bq%ﬁﬁu Te]
xpoly(x,y,"lines",1) //;B P
xgrid(4) //T““FF‘4 & Hj\
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R
/fx=t-3 5 4]
/ly=[2 -4 1]
//x=[5 -3 4]
/ly=[-42 1]
x=[5 4-3]
y=[-4 1 2]
plot2d(0,0,-1,"034"," ",[-5,-5,5,5])
xset("color",2)
xpoly(x,y,"lines",0) // by default closed
xgrid(4)
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function [xm,ym]=MiddlePoint(x1,y1,x2,y2) //fyRe; [ E I (F | 2 (), FrBe €78, B fpyeehy
xm = (x1+x2)2  /AEETE o f I%!mfj X A A5
ym = (yl+y2)2  // FIRYRY y A2

endfunction  //ffEfAH"

[xm ,ym]=MiddlePoint(-3,2,4,1) /=
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sin(x)/x i x=0 FYAf[EL
iy
x=[-0.1 -0.01 -0.001 -0.0001 0.0001 0.001 0.01 ]
y=sin(X)
z=y./X
ﬁ'ﬁiﬁ'w[n
X =
— 0.1 -0.01 -0.001 -0.0001 0.0001 0.001 0.01
y =
column 1to 6
-0.0998334 -0.0099998 -0.0010000 - 0.0001 0.0001 0.0010000
column 7
0.0099998
7 =
column 1 to 6
0.9983342 0.9999833 0.9999998 1. 1. 0.9999998
column 7
0.9999833
RERRLEGI IO ) AL x50 0 ) S x°2(M) 103, 3017260 )
AEHT0 > [ELRLIERLYZ T [t sin(x) P11 x T H#e— > B xM/2(T HANL > sqrt(x) EE
x=[0.0001 0.001 0.01 0.1]
y=sqrt(x)
7z=y./x

G AT AR
y=0.01 0.0316228 0.1 0.3162278
z=100. 31.622777 10. 3.1622777 (## 694 %)
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x=[-0.1 -0.01 -0.001 -0.0001 0.0001 0.001 0.01 0.1]

y=x"2

7=y./x

ST

y=0.01 0.0001 0.000001 1.000D-08 1.000D-08 0.000001 0.0001 0.01
=-0.1 -0.01 -0.001 -0.0001 0.0001 0.001 0.01 0.1 (#B:E# 0)
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R L10, L20, L40CE Ui L2, L3, L4)
R U10, U20, U40(FUE U2, U3, U4)

#F’I |JOLﬁ\
x1=[0:0.2:1.8]
xu=[0.2:0.2:2]
yl=1+3.%#x1"2
yu=1+3.*xu"2

L10=0;

U10=0;

forj=1:10
L10=L10+(0.2).*.yl(j);
U10=U10+(0.2).*.yu(j);
end;
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L10=8.84
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L40=9.7025
U40=10.3025






